
A.Fill in.

1 ………… is the second animal.

2. ………….. is the fifth animal.

3. It’s a …………… . It has got ………. sides and 6 …………..

4. It’s a …………… . It has got 4 ………..and ………..corners

5. The difference between 29 and 25 is …………. 

6. The difference between 13 and 11 is …………. 

7.Seven minus four is ………………

8. Eleven plus three is ………..

9. ………….. is after 25.

10. …………….. is before 19.

11. ……………. , …………….. are between 35 and 38.



B: Read and match.

12 = 12
Two is less than six.

Nine minus one is eight.

Ten is greater than three.

Four plus six is 10.

Twelve is equivalent twelve.

4+6=10

9-1=8
Fourteen minus six is eight.

14-6=8

10 > 3

2 < 6


